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cQ €Q cQ DE X 3 GB K
DE [BT]
GE TNX CALL
UR RST HR QTH JCC ES
OP  [BT]
HW CPI ? [AR]
DE [KN]
DE [BT]
SOLID CPI SAN [BT]

[x E#EnrEYS %] [BT]

HW? [AR]
DE [KN]
DE [BT]
RR FB____ SAN [BT]

TNXFER FB 1ST QSO ES MY QSL
VIA BURO SURE [BT]
TNX FER UR CALL ES HPE TO CU
AGN AT AINET TU 73 [AR]

DE GL 73 [SK] ee

FxvI74AVR
I DE K
DE [BT]
“ GE SAN
| UR RST HR IN JCC
1 ES MY NAME IS [BT] %1
HW? [AR]
DE [KN]
DE [BT]
OK SAN [BT]

[ E#ZnrEYs %] [BT]

| TNX FER FB 1ST QSO ES PSE QSL

VIA BURO [BT] i*2
HPE TO CU AGN 73 [AR]
DE TU 73 [SK]ee
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